S1

Skip Counting by 2s, 5s, or 10s

1) (Isabella found 6 dimes in the cabinet. How much money does she have in total? )

\a) 90 cents b) 60 cents c) 70cents d) 50 cents )

~

\a) 30 cents b) 15 cents c) 25cents d) 20 cents D

3) ('Yvonne saved 2 pennies each day for 7 consecutive days in her piggy bank. Use skip A
counting to find the total amount.

\a) 8 cents b) 16 cents c) 14 cents D

4) ('Mike found 7 dimes under the couch. How much money did he find in total? A

\a) 70 cents b) 80 cents c) 60 cents d) 90 cents )

5) (Kurt has 25 cents in his piggy bank. If he adds 6 nickels, how much money does he have )

now?
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